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Question Number : 1 Question Id : 2549896385 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Windows, which of the following is a power-saving state?

Options :

1.  Log off

2.  Sleep

3.  Restart

4.  Lock

   

Question Number : 1 Question Id : 2549896385 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

विंडोज में, निम्नलिखित में से कौन-सी, पॉवर-बचत (power-saving) स्थिति है?

Options :

1.  लॉग ऑफ

2.  स्लीप



3.  रीस्टार्ट

4.  लॉक

   

Question Number : 2 Question Id : 2549896507 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In order to move from one worksheet to another in MS-Excel workbook, one should click:

Options :

1.  Active cell

2.  Scroll bar

3.  Sheet tab

4.  Tab button

   

Question Number : 2 Question Id : 2549896507 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel वर्क बुक में एक वर्क शीट से दूसरी वर्क शीट पर जाने के लिए, निम्‍न में से किसको क्लिक करना चाहिए?

Options :

1.  सक्रिय (Active) सेल

2.  स्क्रॉल बार

3.  शीट टैब

4.  टैब बटन

   

Question Number : 3 Question Id : 2549897020 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a point-and-draw device?

Options :

1.  Mouse

2.  Scanner

3.  Printer

4.  CD-ROM

   

Question Number : 3 Question Id : 2549897020 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

इनमे से कौन-सा पॉइंट-एडं-ड्रॉ डिवाइस है?

Options :

1.  माउस

2.  स्कै नर

3.  प्रिंटर

4.  CD-ROM

   

Question Number : 4 Question Id : 2549897254 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Linux, which files contains configuration files specific to the machine?

Options :



1.  /lib

2.  /usr

3.  /dev

4.  /etc

   

Question Number : 4 Question Id : 2549897254 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

लिनक्स (Linux) में, कौन-सी फाइल में मशीन के लिए विशिष्ट (निर्दिष्ट), कॉन्फिगरेशन फाइलें होती है?

Options :

1.  /lib

2.  /usr

3.  /dev

4.  /etc

   

Question Number : 5 Question Id : 2549897627 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a system software?

Options :

1.  Linux

2.  MS-Word

3.  MS-Excel

4.  Tally



   

Question Number : 5 Question Id : 2549897627 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन-सा, एक सिस्टम सॉफ्टवेयर है?

Options :

1.  लिनक्स (Linux)

2.  एमएस-वर्ड (MS-Word)

3.  एमएस-एक्सेल (MS-Excel)

4.  टैली (Tally)

   

Question Number : 6 Question Id : 2549897665 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A Daisy Wheel printer is a type of ______ printer.

Options :

1.  line

2.  character

3.  laser

4.  inkjet

   

Question Number : 6 Question Id : 2549897665 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



डेज़ी व्हील प्रिंटर, एक प्रकार का ______ प्रिंटर है।

Options :

1.  लाइन

2.  कैरेक्टर

3.  लेज़र

4.  इंकजेट

   

Question Number : 7 Question Id : 2549898453 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which function returns the harmonic mean in MS-Excel?

Options :

1.  HMEAN function

2.  HRMEAN function

3.  HARMEAN function

4.  HRMMEAN function

   

Question Number : 7 Question Id : 2549898453 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel में कौन-सा फंक्शन हार्मोनिक माध्य (harmonic mean) देता है?

Options :

1.  HMEAN फंक्शन

2.  HRMEAN फंक्शन



3.  HARMEAN फंक्शन

4.  HRMMEAN फंक्शन

   

Question Number : 8 Question Id : 2549899298 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following memories is a special high-speed memory that temporarily stores 

instructions and data the CPU is likely to use frequently?

Options :

1.  Hard disk

2.  Flash chip

3.  Cache

4.  Compact disc

   

Question Number : 8 Question Id : 2549899298 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन-सी मेमोरी एक विशेष हाई-स्पीड मेमोरी है जो अस्थायी रूप से निर्देशों (इंस्ट्रक्शंस) और डेटा को संग्रहीत करती 

है जिसे CPU अक्सर (बहुधा) उपयोग कर सकता है?

Options :

1.  हार्ड डिस्क

2.  फ्लैश चिप

3.  कैश

4.  कॉम्पैक्ट डिस्क



   

Question Number : 9 Question Id : 25498930065 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  ROM

2.  Memory

3.  CPU

4.  Storage

   

Question Number : 9 Question Id : 25498930065 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  ROM

2.  मेमोरी

3.  CPU

4.  स्टोरेज

   

Question Number : 10 Question Id : 25498930917 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The area which holds a rotary tool that will cut the shapes, web material, sheets is known as 

________. 

Options :

1.  an arm

2.  a gear

3.  a station

4.  a break

   

Question Number : 10 Question Id : 25498930917 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

आकृतियां, वेब सामग्री, शीटों आदि को काटने वाली रोटरी डिवाइस को होल्ड करने वाला भाग इनमें से क्या कहलाता है?

Options :

1.  आर्म

2.  गियर

3.  स्टेशन

4.  ब्रेक

   

Question Number : 11 Question Id : 25498931287 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One kilobyte is equal to how many bytes?



Options :

1.  220

2.  210

3.  230

4.  240

   

Question Number : 11 Question Id : 25498931287 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक किलोबाइट कितने बाइट के बराबर होता है?

Options :

1.  220

2.  210

3.  230

4.  240

   

Question Number : 12 Question Id : 25498932659 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The communication between a card and a card reader takes place through direct coupling. This 

leads to:

Options :

1.  portability

2.  reliability



3.  security

4.  efficiency

   

Question Number : 12 Question Id : 25498932659 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

डायरेक्ट कपलिंग का उपयोग करके कार्ड और कार्ड रीडर के बीच संचार किया जाता है। इससे क्या होता/होती है?  

Options :

1.  सुवाह्यता (पोर्टेबिलिटी)

2.  विश्वसनीयता (रिलाइबिलिटी)

3.  सुरक्षा (सिक्योरिटी)

4.  दक्षता (एफिशिएसंी)

   

Question Number : 13 Question Id : 25498933099 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following computers is used for applications such as scientific simulations, graphics, 

fluid dynamic calculations, nuclear energy research, electronic design, and analysis of geological 

data?

Options :

1.  Mini Computer

2.  Mainframe Computer

3.  Micro Computer

4.  Super Computer

   



Question Number : 13 Question Id : 25498933099 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन-सा कंप्यूटर, वैज्ञानिक सिम्युलेशन, ग्राफिक्स, तरल गतिकी गणना, परमाणु ऊर्जा अनुसंधान, इलेक्ट्रॉनिक 

डिज़ाइन और भूवैज्ञानिक डेटा के विश्लेषण जैसे अनुप्रयोगों के लिए उपयोग किया जाता है?

Options :

1.  मिनी कंप्यूटर

2.  मेनफ़्रे म कंप्यूटर

3.  माइक्रो कंप्यूटर

4.  सुपर कंप्यूटर

   

Question Number : 14 Question Id : 25498933200 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ bits are used for error detection during data transmission or storage.

Options :

1.  Parity

2.  Start

3.  Stop

4.  Negative

   

Question Number : 14 Question Id : 25498933200 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

डेटा ट्रांसमिशन या स्टोरेज के दौरान त्रुटि का पता लगाने के लिए ________ बिट्स का उपयोग किया जाता है।



Options :

1.  पैरिटी

2.  स्टार्ट

3.  स्टॉप

4.  नेगेटिव

   

Question Number : 15 Question Id : 25498933832 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A CPU cycle time is __________.

Options :

1.  the time taken by the first bit to travel from sender to receiver end of the link

2.  the time taken for a hard disk controller to locate a specific piece of stored data

3.  the total amount of time it takes to respond to a request for service

4.  the time required for the execution of one simple machine instruction

   

Question Number : 15 Question Id : 25498933832 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

एक CPU चक्र समय होता है:

Options :

1.  प्रेषक से लिंक के रिसीवर छोर तक यात्रा करने के लिए पहली बिट द्वारा लिया गया समय

2.  हार्ड डिस्क कंट्रोलर के लिए संग्रहीत डेटा के एक विशिष्ट भाग को लोकेट (locate) करने में लगने वाला समय

3.  सेवा के अनुरोध का जवाब देने में लगने वाला कुल समय



4.  एक साधारण मशीन निर्देश (इंस्ट्रक्शन) को निष्पादित करने के लिए आवश्यक समय

   

Question Number : 16 Question Id : 2549898169 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In terms of computer security, ACL stands for:

Options :

1.  Access Computer List

2.  Access Command List

3.  Access Control List

4.  Access Create List

   

Question Number : 16 Question Id : 2549898169 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंप्यूटर सुरक्षा के संदर्भ में ACL का पूर्ण रूप क्या है?

Options :

1.  Access Computer List (एक्सेस कंप्यूटर लिस्ट)

2.  Access Command List (एक्सेस कमांड लिस्ट)

3.  Access Control List (एक्सेस कंट्रोल लिस्ट)

4.  Access Create List (एक्सेस क्रिएट लिस्ट)

   

Question Number : 17 Question Id : 2549898741 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following teams created the protocol that made it possible to connect content on the 

web using hyperlinks?

Options :

1.  CERN

2.  WWW

3.  ARPA

4.  GOOGLE

   

Question Number : 17 Question Id : 2549898741 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से किस टीम ने उस प्रोटोकॉल को निर्मित किया जिसने हाइपरलिंक का उपयोग करके वेब पर सामग्री कनेक्ट करना 

संभव बना दिया?

Options :

1.  CERN

2.  WWW

3.  ARPA

4.  GOOGLE

   

Question Number : 18 Question Id : 2549899450 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following printers is costly?

Options :

1. 



 Dot matrix printer

2.  Inkjet printer

3.  Character printer

4.  Laser printer

   

Question Number : 18 Question Id : 2549899450 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन सा प्रिंटर महंगा होता है?

Options :

1.  डॉट मैट्रिक्स प्रिंटर

2.  इंकजेट प्रिंटर

3.  कैरेक्टर प्रिंटर

4.  लेज़र प्रिंटर

   

Question Number : 19 Question Id : 2549899466 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the purpose of a printer buffer or spooler?

Options :

1.  It holds the memory location of the information to print.

2.  It holds the address of the information to print.

3.  It holds the information to print.

4.  it holds the margin details of the content to print



   

Question Number : 19 Question Id : 2549899466 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

प्रिंटर बफर या स्पूलर का काम क्या है?

Options :

1.  इसमें प्रिंट की जाने वाली इनफार्मेशन की मेमोरी लोकेशन होती है।

2.  इसमें प्रिंट की जाने वाली इनफार्मेशन का एड्रेस होता है।

3.  इसमें प्रिंट करने के लिए इनफार्मेशन होती है।

4.  इसमें प्रिंट किये जाने वाले डाक्यूमेंट्स के मार्जिन संबंधी विवरण होता है।

   

Question Number : 20 Question Id : 2549899625 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a printer?

Options :

1.  Inkjet printer

2.  Laser printer

3.  Dot matrix printer

4.  Screen printer

   

Question Number : 20 Question Id : 2549899625 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



निम्नलिखित में से कौन सा प्रिंटर नहीं है?

Options :

1.  इंकजेट प्रिंटर

2.  लेज़र प्रिंटर

3.  डॉट मैट्रिक्स प्रिंटर

4.  स्क्रीन प्रिंटर

   

Question Number : 21 Question Id : 25498910951 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The cold boot process is generally initiated by:

Options :

1.  pressing ALT + CTRL + DEL together

2.  pressing ALT + CTRL + TAB together

3.  turning on the PC

4.  using the Start menu of Windows

   

Question Number : 21 Question Id : 25498910951 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कोल्ड बूट प्रक्रिया आमतौर पर _______ द्वारा शुरू की जाती है।

Options :

1.  ALT + CTRL + DEL को एक साथ दबाकर

2.  ALT + CTRL + TAB बटन को एकसाथ दबाकर



3.  पीसी को चालू करके

4.  Windows के स्टार्ट मेनू का उपयोग करके

   

Question Number : 22 Question Id : 25498911130 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which printer produces comparatively low quality images?

Options :

1.  Laser

2.  Dot matrix

3.  3D

4.  LED

   

Question Number : 22 Question Id : 25498911130 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कौन सा प्रिंटर तुलनात्मक रूप से कम गुणवत्ता वाली इमेज बनाता है?

Options :

1.  लेज़र

2.  डॉट मैट्रिक्स

3.  3D

4.  LED

   

Question Number : 23 Question Id : 25498913455 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of redundancy used in image compression?

Options :

1.  Psycho-visual redundancy

2.  Inter-pixel redundancy

3.  Programming redundancy

4.  Coding redundancy

   

Question Number : 23 Question Id : 25498913455 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्न में से कौन सा इमेज संपीडन में उपयोग की जाने वाली अतिरेकता (redundancy) का एक प्रकार नहीं है?

Options :

1.  साइको-विजुअल अतिरेकता

2.  इंटर-पिक्सल अतिरेकता

3.  प्रोग्रामिंग अतिरेकता

4.  कोडिंग अतिरेकता

   

Question Number : 24 Question Id : 25498913479 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There is no compression with _____ files which allow images to have very high quality, but also very 

large file sizes. 



Options :

1.  JPEG

2.  BMP

3.  GIF

4.  PNG

   

Question Number : 24 Question Id : 25498913479 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ऐसी ______ फाइलें जो बहुत उच्च क्वालिटी की और आकार में बहुत बड़ी होती हैं, उनका संपीडन (कम्प्रेसन) नहीं हो पाता है।

Options :

1.  JPEG

2.  BMP

3.  GIF

4.  PNG

   

Question Number : 25 Question Id : 25498918497 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following could be the problem if your printer is printing but there are no 

characters/contents seen on the page?

Options :

1.  You installed the wrong printer driver.

2.  There might be no ink in the cartridge.



3.  The cable is disconnected or broken.

4.  The paper quality is bad.

   

Question Number : 25 Question Id : 25498918497 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यदि आपका प्रिंटर मुद्रण तो कर रहा हो लेकिन पृष्ठ पर कोई अक्षर/कंटेंट दिखाई न दे, तो क्या समस्या हुई है?

Options :

1.  आपने गलत प्रिंटर ड्राइवर इंस्टाल किया है।

2.  हो सकता है कार्ट्रिज में स्याही न हो।

3.  केबल हट गया है या टूट गया है।

4.  कागज़ की गुणवत्ता खराब है।

   

Question Number : 26 Question Id : 25498921935 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In cryptographic algorithm, ______ does NOT have a key.

Options :

1.  secret key algorithm

2.  public key algorithm

3.  hash function

4.  popular key algorithm

   

Question Number : 26 Question Id : 25498921935 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

क्रिप्टोग्राफिक एल्गोरिदम के ______ में कोई की नहीं होती है।

Options :

1.  सीक्रे ट की एल्गोरिदम

2.  पब्लिक की एल्गोरिदम

3.  हैश फंक्शन

4.  पॉपुलर की एल्गोरिदम

   

Question Number : 27 Question Id : 25498922703 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The display of a monitor is rotated. What could be the solution to fix the display?

Options :

1.  Press Ctrl + Alt + the appropriate arrow key

2.  Press Shift + Alt + Up arrow key

3.  Press Shift + Alt + the appropriate arrow key

4.  Press Shift + Ctrl + Alt + the appropriate arrow key

   

Question Number : 27 Question Id : 25498922703 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

मॉनिटर का डिस्प्ले घूम गया गया है। इस समस्या को ठीक करने के लिए क्या करना होगा?

Options :



1.  Ctrl + Alt + उपयुक्त एरो की दबाएं

2.  Shift + Alt + up arrow की दबाएं

3.  Shift + Alt + उपयुक्त एरो की दबाएं

4.  Shift + Ctrl + Alt + उपयुक्त एरो की दबाएं

   

Question Number : 28 Question Id : 25498924450 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a communication system call of Windows?

Options :

1.  CreatePipe( )

2.  CreateFileMapping( )

3.  Pipe( )

4.  MapViewOfFile( )

   

Question Number : 28 Question Id : 25498924450 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्न में से कौन सा Windows का एक कम्युनिकेशन सिस्टम कॉल नहीं है?

Options :

1.  CreatePipe( )

2.  CreateFileMapping( )

3.  Pipe( )

4.  MapViewOfFile( )



   

Question Number : 29 Question Id : 25498925424 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of given Hexadecimal number (128)16?

Options :

1.  296

2.  80

3.  196

4.  800

   

Question Number : 29 Question Id : 25498925424 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

दी गई हके्साडेसिमल सखं्या (128)16 का दशमलव समतुल्य क्या है?

Options :

1.  296

2.  80

3.  196

4.  800

   

Question Number : 30 Question Id : 25498927471 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PAN connects computers/devices within the range of an individual person. 



In the context of computed networks, PAN stands for:

Options :

1.  Personal Area Network

2.  Private Area Network

3.  Public Area Network

4.  Protected Area Network

   

Question Number : 30 Question Id : 25498927471 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PAN, व्यक्ति की सीमा के भीतर कंप्यूटर/उपकरणों को जोड़ता है। 

कम्प्युटेड नेटवर्क  के इस संदर्भ में, PAN का पूर्ण रूप है:

Options :

1.  पर्सनल एरिया नेटवर्क  (Personal Area Network )

2.  प्राइवेट एरिया नेटवर्क  (Private Area Network)

3.  पब्लिक एरिया नेटवर्क  (Public Area Network)

4.  प्रोटेक्टेड एरिया नेटवर्क  (Protected Area Network)

   

Question Number : 31 Question Id : 2549896740 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ is the abuse of electronic messaging systems (including most broadcast media, digital 

delivery systems) to send unsolicited bulk messages indiscriminately.

Options :

1.  Spam



2.  Lurk

3.  Flame

4.  Spark

   

Question Number : 31 Question Id : 2549896740 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_______, इलेक्ट्रॉनिक मैसेजिंग सिस्टम (अधिकांश प्रसारण मीडिया, डिजिटल डिलीवरी सिस्टम सहित) का दुरुपयोग है जिसमें अनचाहे 

थोक संदेशों को अंधाधुंध रूप से भेजा जाता है।

Options :

1.  स्पैम (Spam)

2.  लर्क  (Lurk)

3.  फ्लेम (Flame)

4.  स्पार्क  (Spark)

   

Question Number : 32 Question Id : 2549897216 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

______ option in Google Bar shows all the apps that you can switch to using your Gmail account.

Options :

1.  Google Apps

2.  Google System

3.  Google Task

4.  Google Title



   

Question Number : 32 Question Id : 2549897216 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

गूगल बार में _______ विकल्प उन सभी ऐप्स को दिखाता है जिन्हें आप अपने Gmail अकाउंट का प्रयोग कर अदल-बदल (स्विच) कर 

सकते हैं।

Options :

1.  गूगल ऐप्स (Google Apps)

2.  गूगल सिस्टम (Google System)

3.  गूगल टास्क (Google Task)

4.  गूगल टाइटल (Google Title)

   

Question Number : 33 Question Id : 2549897692 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mosaic is:

Options :

1.  a web browser

2.  a programming language

3.  an accounting software

4.  an ERP software

   

Question Number : 33 Question Id : 2549897692 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

मोज़ेक (Mosaic) एक ______ है।

Options :

1.   वेब ब्राउज़र

2.  प्रोग्रामिंग भाषा

3.  लेखांकन सॉफ्टवेयर

4.  ERP सॉफ्टवेयर

   

Question Number : 34 Question Id : 25498910442 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following about SRAM is true with reference to computer memory?

Options :

1.  SRAM  is less expensive than DRAM.

2.  SRAM is to be periodically refreshed.

3.  SRAM retains data bits in its memory even when power is off.

4.  SRAM is a random access memory.

   

Question Number : 34 Question Id : 25498910442 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

कंप्यूटर मेमोरी के संदर्भ में, SRAM के बारे में निम्नलिखित में से कौन-सा सत्य है?

Options :

1.  SRAM, DRAM से कम महंगी है।

2. 



 SRAM को समय-समय पर रिफ्रे श करना होता है।

3.  बिजली बंद होने पर भी SRAM अपनी मेमोरी में डेटा बिट्स को बरकरार रखती है।

4.  SRAM एक रैंडम एक्सेस मेमोरी है।

   

Question Number : 35 Question Id : 25498910455 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If there are ‘p’ number of capital letters and ‘q’ number of small letters, after applying the toggle 

case option of change case list there will be ______ number of capital letters and ______ number of 

small letters.

Options :

1.  p, p

2.  q, q

3.  p, q

4.  q, p

   

Question Number : 35 Question Id : 25498910455 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यदि केपिटल अक्षरों की 'p' संख्या और छोटे अक्षरों की 'q' संख्या है, चेंज केस लिस्ट के टॉगल केस विकल्प को लागू करने के बाद, तो 

______ केपिटल अक्षरों की संख्या और ______ छोटे अक्षरों की संख्या होगी।

Options :

1.  p, p

2.  q, q

3.  p, q



4.  q, p

   

Question Number : 36 Question Id : 25498910672 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There are ______ section breaks in 'Breaks' option of Page Setup group of Layout tab in MS-Word?

Options :

1.  2

2.  3

3.  4

4.  5

   

Question Number : 36 Question Id : 25498910672 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word में लेआउट टैब के पेज सेटअप ग्रुप के विकल्प 'ब्रेक्स (Breaks)' में ______ सके्शन ब्रेक होते हैं?

Options :

1.  2

2.  3

3.  4

4.  5

   

Question Number : 37 Question Id : 25498910737 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following displays the address of the current active cell in an MS-Excel work sheet?

Options :

1.  Name box

2.  Formula bar

3.  Menu bar

4.  Tool bar

   

Question Number : 37 Question Id : 25498910737 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन-सा, MS-Excel वर्क शीट में वर्तमान सक्रिय सेल का पता (एड्रेस) प्रदर्शित करता है?

Options :

1.  नेम बोक्स

2.  फॉर्मूला बार

3.  मेनू बार

4.  टूल बार

   

Question Number : 38 Question Id : 25498910745 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Preventing unauthorised access to programs and data refers to which of the following Operating 

System’s function?

Options :

1.  Control over system performance



2.  Device management

3.  File management

4.  Security

   

Question Number : 38 Question Id : 25498910745 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

प्रोग्राम और डेटा तक अनधिकृत पहुंच (एक्सेस) को रोकना निम्नलिखित में से किस, ऑपरेटिंग सिस्टम के कार्य को संदर्भित करता है?

Options :

1.  सिस्टम प्रदर्शन पर नियंत्रण

2.  डिवाइस मैनेजमेंट

3.  फ़ाइल मैनेजमेंट

4.  सिक्योरिटी

   

Question Number : 39 Question Id : 25498911496 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS-Word, while working on a document, to make sure that every name of the day will NOT be 

capitalised in a sentence, then which of the checkbox options has to be unchecked?

Options :

1.  Correct two initial capitals

2.  Capitalise first letter of sentences

3.  Capitalise first letter of table cells

4.  Capitalise names of days



   

Question Number : 39 Question Id : 25498911496 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word में, डोक्युमेंट पर काम करते समय, यह सुनिश्चित करने के लिए कि दिन के हर नाम को वाक्य में कैपिटलाइज़ नहीं किया 

जाएगा, तो किस चेकबॉक्स विकल्प को अनचेक करना होगा?

Options :

1.  Correct two initial capitals

2.  Capitalise first letter of sentences

3.  Capitalise first letter of table cells

4.  Capitalise names of days

   

Question Number : 40 Question Id : 25498911508 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ______ option in the Proofing tab provides the option to count the number of paragraphs in a 

document in MS-Word.

Options :

1.  Count Paragraphs

2.  Word Count

3.  Paragraph Count

4.  Page Count

   

Question Number : 40 Question Id : 25498911508 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

अशदु्धि जांच (प्रूफिंग) टैब में _________विकल्प MS-Word में, डोक्युमेंट में पैराग्राफ की संख्या गिनने का विकल्प प्रदान करता है।

Options :

1.  काउंट पैराग्राफ्स (Count Paragraphs)

2.  वर्ड काउंट (Word Count)

3.  पैराग्राफ काउंट (Paragraph Count)

4.  पेज काउंट (Page Count)

   

Question Number : 41 Question Id : 25498911834 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following with respect to Unix Operating System is FALSE?

Options :

1.  It is a stable Operating System.

2.  It is a multi user Operating System.

3.  It is a multi tasking Operating System.

4.  It does not provide Graphical User Interface.

   

Question Number : 41 Question Id : 25498911834 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन-सा यनूिक्स ऑपरेटिंग सिस्टम के संबंध में गलत (FALSE) है?

Options :

1.  यह एक स्थिर ऑपरटेिंग सिस्टम है।

2. 



 यह एक मल्टी यूजर ऑपरेटिंग सिस्टम है।

3.  यह एक मल्टी टास्किं ग ऑपरेटिंग सिस्टम है।

4.  यह ग्राफिकल यूजर इंटरफेस प्रदान नहीं करती है।
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Which of the following refers to the products that are designed to satisfy a particular need of a 

particular environment?

Options :

1.  Application software

2.  Device drivers

3.  Firmware

4.  Operating system
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निम्नलिखित में से कौन-सा, उन उत्पादों को संदर्भित करता है जो किसी विशेष वातावरण की विशेष आवश्यकता को पूरा करने के लिए 

डिज़ाइन किए गए हैं?

Options :

1.  एप्लीकेशन सॉफ्टवेयर

2.  डिवाइस ड्राइवर्स

3.  फर्मवेयर

4. 



 ऑपरेटिंग सिस्टम
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'शो मार्क अप (Show Markup)' विकल्प, MS-Word में रिव्यु टैब के निम्न में से किस समूह में उपलब्ध है?

Options :

1.  स्पीच (Speech)

2.  प्रूफिंग (Proofing)

3.  कमैंट्स (Comments)

4.  ट्रैकिंग (Tracking)
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'Show Markup' option is available in which of the following groups of Review tab in MS-Word?

Options :

1.  Speech

2.  Proofing

3.  Comments

4.  Tracking
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Which of the following is the shortcut key to justify the text in an MS-Word document?

Options :

1.  Ctrl + R

2.  Ctrl + J

3.  Ctrl + T

4.  Ctrl + L
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MS-Word डोक्युमेंट में टेक्स्ट को जस्टिफाय करने के लिए निम्न में से कौन-सी शॉर्टकट कंुजी है?

Options :

1.  Ctrl + R

2.  Ctrl + J

3.  Ctrl + T

4.  Ctrl + L
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Select the FALSE envelope size in the mail merge process from the given Envelope Options in MS-

Word.

Options :

1.  B4



2.  B5

3.  B6

4.  B7
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MS-Word में दिए गए एन्वेलप विकल्पों में से मेल मर्ज प्रक्रिया में गलत (FALSE) एन्वेलप साइज़ का चयन करें। 

 

Options :

1.  B4

2.  B5

3.  B6

4.  B7
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There is/are ______ tab(s) in the Envelopes options dialogue box in mail merge.

Options :

1.  1

2.  2

3.  3

4.  4
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मेल मर्ज (mail merge) में एन्वेलप विकल्प डायलाग बॉक्स में टैब की संख्या कितनी होती है?

Options :

1.  1

2.  2

3.  3

4.  4
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Correct Marks : 1 Wrong Marks : 0

In MS-Word, to use other than existing names and addresses from a file or database or to create a 

new list the _______ radio button has to be enabled in the third step of mail merging the email 

messages.

Options :

1.  Use an existing list

2.  Select from Outlook Contacts

3.  Type a new list

4.  Import the list
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MS-Word में, फ़ाइल या डेटाबेस से मौजूदा नामों और पतों (एड्रेस) के अलावा अन्य का उपयोग करने के लिए या एक नई सूची बनाने 

के लिए, ईमेल संदेशों के मेल मर्जिंग (merging) के तीसरे चरण में किस रेडियो बटन का सक्षम (enabled) होना जरूरी है?

Options :

1.  मौजूदा सूची का उपयोग करें (Use an existing list)

2.  Outlook संपर्क  से चुनें (Select from Outlook Contacts)

3.  एक नई सूची टाइप करें (Type a new list)

4.  सूची इम्पोर्ट करें (Import the list)
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Correct Marks : 1 Wrong Marks : 0

Which of the following groups is NOT available in Insert tab of MS-Word?

Options :

1.  Pages

2.  Tables

3.  Illustrations

4.  Paragraphs
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निम्नलिखित में से कौन-सा समूह, MS-Word के इन्सर्ट टैब में उपलब्ध नहीं है?

Options :

1.  पेजिज़ (Pages)



2.  टेबल्स (Tables)

3.  इल्लुस्ट्रेशन्स (Illustrations)

4.  पैराग्राफ्स (Paragraphs)
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The Format Painter option in MS-PowerPoint is found in which of the following tabs?

Options :

1.  Design

2.  View

3.  Insert

4.  Home
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MS-PowerPoint में फ़ॉर्मेट पेंटर विकल्प निम्न में से किस टैब में पाया जाता है?

Options :

1.  डिज़ाइन (Design)

2.  व्यू (View)

3.  इन्सर्ट (Insert)

4.  होम (Home)
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Which of the following system software programs is/are intended for diagnostic and maintenance 

tasks of the computer?

Options :

1.  Device drivers

2.  Firmware

3.  Utilities

4.  Operating system
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निम्नलिखित में से कौन-सा सिस्टम सॉफ्टवेयर प्रोग्राम, कंप्यूटर के डायग्नोस्टिक और रखरखाव कार्यों के लिए अभिप्रेत है?

Options :

1.  डिवाइस ड्राइवर्स

2.  फर्मवेयर

3.  यूटिलिटीज

4.  ऑपरेटिंग सिस्टम
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The ______ is a toggle key that lets you switch the letters on your keyboard from lowercase to 

uppercase.

Options :

1.  Num Lock key

2.  Tab key

3.  Caps Lock key

4.  Space bar key
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______ एक टॉगल कुंजी है जो आपको अपने कीबोर्ड पर अक्षरों को लोअरकेस से अपरकेस में बदलने की सुविधा देती है।

Options :

1.  नम लॉक कुंजी

2.  टैब कुंजी

3.  कैप्स लॉक कुंजी

4.  स्पेस बार कुंजी
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A video consists of a sequence of ______. 

Options :

1.  layers



2.  packets

3.  frames

4.  slots
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एक वीडियो, ______ के अनुक्रम (सिक्वेंस) से बना होता है।

Options :

1.  लेयर्स

2.  पैकेट

3.  फ्रे म

4.  स्लॉट
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Question Numbers : (53 to 57)

Read the given passage and answer the questions. 

 

Quasimodo 

 

My next pet was a pigeon. He was still very young and had to be force-fed on bread-and-milk and 

soaked corn. He was the most revolting bird to look at, with his feathers pushing through the 

wrinkled scarlet skin, mixed with the horrible yellow down that covers baby pigeons and makes 

them look as though they have been peroxidising their hair. Owing to his repulsive and obese 

appearance, we called him Quasimodo. 

 

Since he had an unorthodox upbringing, without parents to teach him the facts of life, Quasimodo 

became convinced that he was not a bird at all and refused to fly. Instead, he walked everywhere. 

If he wanted to get on to a table, or a chair, he stood below it, ducking his head and cooing loudly 

until someone lifted him up. He was always eager to join us in anything we did and would even try 

to come for walks with us. This, however, we had to stop, for either you carried him on your 

shoulder, which was risking an accident to your clothes, or else you let him walk behind. If you let 

him walk, then you had to slow down your own pace to suit his. If you got too far ahead you would 

hear the most frantic and imploring coos, and if you turned around you would find Quasimodo 

running desperately after you, his tail wagging with indignation at your cruelty. 

 

Quasimodo insisted on sleeping in the house; no amount of coaxing or scolding would get him to 

inhabit the pigeon loft I had constructed for him. He preferred to sleep at the end of Margo's bed. 

Eventually, however, he was banished to the drawing-room sofa, for if Margo turned over in bed 



at night Quasimodo would wake, hobble up the bed, and perch on her face, cooing loudly and 

lovingly.

Sub questions

 

Question Number : 53 Question Id : 25498921134 Question Type : MCQ Option Shuffling : Yes 
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The narrator describes the pigeon as ‘a revolting’ bird because:

Options :

1.  he could not fly.

2.  he wanted to go for evening walks.

3.  he had wrinkled skin covered with yellow feathers.

4.  he had to be force fed.
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The pigeon was named ‘Quasimodo’ because:

Options :

1.  he was fat and ugly.

2.  he ate only soaked corn.

3.  he could not fly.

4.  he behaved like humans.
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How do we know that Quasimodo was always eager to go on walks?

Options :

1.  He walked everywhere.

2.  He did not know how to fly.

3.  He complained loudly if he was not taken along.

4.  He loves spending time with humans.
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The phrase ‘risking an accident to your clothes’ means the pigeon:

Options :

1.  did not like their clothes

2.  could soil their clothes

3.  could risk a fall

4.  could get entangled in their clothes
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Quasimodo protested when he was:

Options :

1.  left at home



2.  lifted on shoulders

3.  taken for a walk

4.  left behind during walks
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Question Numbers : (53 to 57)

दिए गए गद्यांश को पढ़ें  और उसके आधार पर प्रश्नों के उत्तर दें। 

 

क्वासीमोडो 

 

मेरा अगला पालतू पक्षी कबूतर था। वह अभी भी बहुत छोटा था और बड़ी मुश्किल से रोटी और दूध और मक्के  के भीगे हुए दाने ही खा 

पाता था। वह दिखने में बहुत घिनौना पक्षी था जिसके पंख झुर्रीदार लाल रंग की त्वचा को फोड़कर बाहर निकले हुए थे, गाढ़े  पीले रंग के 

मुलायम रुए ंउस छोटे कबूतर के शरीर को ढक रहे थे। उसके इस भद्दे शरीर और मोटापे के कारण, हमने उसका नाम क्वासीमोडो रख 

दिया। 

 

चूँकि उसका लालन-पालन, उसके माता-पिता द्वारा उसके अपने पक्षी जीवन की रीतियों को सिखाए बिना, अपरंपरागत तरीके से हुआ 

था, इसलिए क्वासीमोडो आश्वस्त हो गया कि वह एक पक्षी नहीं है, और इसलिए उसने उड़ने से मना कर दिया। इसके बजाय वह हर 

जगह घूमता था। यदि वह किसी मेज, या कुर्सी पर जाना चाहता था, तो सिर झुकाकर मेज के नीचे खड़ा होकर जोर-जोर से तब तक 

कूकता रहता था जब तक कोई उसे उठाकर ऊपर रख नहीं देता था। हम जो भी कार्य करते थे वह सदैव उस कार्य में शामिल होने के लिए 

उत्सुक रहता था, और हमारे साथ चलने की कोशिश भी करता था। या तो आप उसे आपके कंधे पर ले जाए,ं जिसमें आपके कपड़े खराब 

होने का खतरा होता था, अन्यथा आप उसे अपने पीछे-पीछे चलने दें। और यदि आप उसे अपने पीछे चलने देते, तो उसे बराबर लेने के 

लिए आपको अपनी चाल धीमी करनी पड़ती। यदि आप तेज़ चलते हुए उससे थोड़ा आगे निकल जाते तो आपको तुरंत बहुत तेज़ और 

दुःख भरी उसकी कूक सुनने को मिलती है और तब अगर आप मुड़कर उसे देखते तो क्वासीमोडो घबराकर आपकी ओर दोड़ता हुआ 

दिखाई देता और अपनी पूँछ हिलाकर आपकी क्रू रता के प्रति गुस्सा ज़ाहिर करता। 

 

क्वासीमोडो घर में ही सोता था; मनाने या डाँटने पर भी वह उसके लिए बनाये गए कबूतर खाने में नहीं जाता था। हालाकँि उसे ड्राइंग 

रूम के सोफे पर ही रहने की सजा दी गई थी, लेकिन वह मार्गो के बिस्तर के एक कोने में ही सो जाता था। अगर कभी अकस्मात् मार्गो 

रात में उठ जाता या उसके करवटें लेने की वजह से क्वासीमोडो जाग जाता, तो वह जोर से और प्यार से चिल्लाते हुए बिस्तर पर लोटने 

लगाता और उसके चेहरे पर शांति होती।

Sub questions
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लेखक ने कबूतर को 'घिनौना पक्षी' क्यों कहा है?

Options :

1.  वह उड़ नहीं पाता था।

2.  वह शाम की सैर पर जाना चाहता था।

3.  क्योंकि उसकी त्वचा पीले पंखों से ढकी हुई झुर्रियों वाली थी।

4.  उसे खाना जबरदस्ती खिलाना पड़ता था।
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कबूतर का नाम 'क्वासीमोडो' क्यों रखा गया था?

Options :

1.  वह मोटा और भद्दा था।

2.  वह भीगे हुए मक्के  के दाने खाता था।

3.  वह उड़ नहीं पाता था।

4.  वह मनुष्यों की तरह व्यवहार करता था।

 

Question Number : 55 Question Id : 25498921136 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

हम यह कैसे जानेंगे कि क्वासीमोडो हर जगह चलने को उत्सुक रहता था?



Options :

1.  वह हर जगह चलता था।

2.  उसे नहीं पता था कि कैसे उड़ना है।

3.  वह शिकायत करेगा अगर उसे साथ नहीं ले जाया गया।

4.  उन्हें इंसानों के साथ समय बिताना बहुत पसंद है।

 

Question Number : 56 Question Id : 25498921137 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

वाक्यांश 'आपके कपड़े ख़राब होने का खतरा है' का मतलब है कि कबूतर ______।

Options :

1.  को उनके कपड़े पसंद नहीं आए

2.  आपके कपड़ों को गंदा कर सकता है

3.  को गिरने का खतरा हो सकता है

4.  आपके कपड़ों को उलझा सकता है

 

Question Number : 57 Question Id : 25498921138 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

क्वासीमोडो ने विरोध किया, जब वह/उसे ______।

Options :

1.  घर पर छोड़ दिया गया

2.  कंधों पर उठाया गया

3.  टहलने के लिए ले जाया गया



4.  टहलते समय पीछे छोड़ दिया गया

   

   

QUANTITATIVE APTITUDE
Section Id : 2549897145

Section Number : 3

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and 

Clear Response :
Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549897186

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 58 Question Id : 25498914261 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :



1.  27

2.  3

3.  4

4.  21

   

Question Number : 58 Question Id : 25498914261 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  27

2.  3

3.  4

4.  21

   

Question Number : 59 Question Id : 25498929021 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A dealer marked the price of an item at 40% above the cost price. He allowed two successive 

discounts of 20% and 25% to a particular customer. As a result, he incurred a loss of ₹448. At what 

price did he sell the item to the said customer?

Options :



1.  ₹2,416

2.  ₹2,352

3.  ₹2,268

4.  ₹2,152

   

Question Number : 59 Question Id : 25498929021 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 60 Question Id : 25498929061 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression? 

(Note: you are not expected to calculate the exact value) 



 

3214.99 + 285.02 + 600.02 – 4.01

Options :

1.  3650

2.  4096

3.  4200

4.  3225

   

Question Number : 60 Question Id : 25498929061 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  3650

2.  4096

3.  4200

4.  3225

   

Question Number : 61 Question Id : 25498929087 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the value of the given expression? 



 

54.2 + 13.52 + 0.52 - 0.56 - 0.07

Options :

1.  85.44

2.  72.12

3.  66.57

4.  67.61

   

Question Number : 61 Question Id : 25498929087 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 62 Question Id : 25498929515 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Options :

1.   

 

2.   

 

3.   

 

4.   

 

   

Question Number : 62 Question Id : 25498929515 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यदि एक गुणोत्तर श्रेढ़ी के (m + n)वें और (m - n )वें पद क्रमशः p और q हैं। तो mवें और nवें पद क्रमशः क्या होंगे?

Options :

1.   

 

2.   

 

3.   



 

4.   

 

   

Question Number : 63 Question Id : 25498929706 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  0

2.  1

3.  2

4.  4

   

Question Number : 63 Question Id : 25498929706 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  0

2.  1

3.  2

4.  4

   



   

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549897146

Section Number : 4

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and 

Clear Response :
Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549897187

Question Shuffling Allowed : Yes

Is Section Default? : null

   

Question Number : 64 Question Id : 25498912884 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the first and the second letters of the word UNPRECEDENTED are interchanged with the last and 

the second last letters, and similarly the third and the fourth letters are interchanged with the 

third and the fourth letters from the last, respectively, then what will be the seventh letter to the 

right of the third letter from the left?

Options :

1.  C

2.  E

3. 



 P

4.  R

   

Question Number : 64 Question Id : 25498912884 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यदि शब्द UNPRECEDENTED के पहले और दूसरे अक्षर की स्थिति को अतंिम और अंतिम से पहले वाले अक्षर से बदल दिया जाता 

है और ठीक इसी तरह तीसरे व चौथे अक्षर को अंतिम से क्रमश: तीसरे व चौथे अक्षर से बदल दिया जाता है, तो बायीं ओर से तीसरे 

अक्षर के दायीं ओर सातवां अक्षर कौन सा होगा? 

Options :

1.  C

2.  E

3.  P

4.  R

   

Question Number : 65 Question Id : 25498919635 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option with the quality/description common to the three given words. 

 

Wasp, Cricket, Beetle

Options :

1.  Insects

2.  Pathogens

3.  Microbes



4.  Pesticides

   

Question Number : 65 Question Id : 25498919635 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

उस विकल्प का चयन कीजिए जो नीचे दिए गए तीनों शब्दों के समान गुण को व्यक करता है। 

 

ततैया : झींगुर : भंवरा

Options :

1.  कीट

2.  रोगज़नक

3.  रोगाणु

4.  कीटनाशक

   

Question Number : 66 Question Id : 25498919649 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option in which the words share the same relationship as that shared by the given three 

words. 

 

Furniture : Table : Almirah

Options :

1.  Building : Wall : Brick

2.  Fruit : Orange : Apple

3.  Mother : Father : Sister

4. 



 Sea : Road : City

   

Question Number : 66 Question Id : 25498919649 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित प्रश्न में, कुछ शब्द दिए गए हैं जो किसी रूप में एक-दूसरे से संबंधित हैं। नीचे दिए गए चार विकल्पों में से किसी एक में दिए 

गए शब्दों के बीच भी वही संबंध है। वह सही विकल्प को चुनें। 

 

फर्नीचर : मेज़ : अलमारी

Options :

1.  इमारत : दीवार : ईंट

2.  फल : संतरा : सेब

3.  माता : पिता : बहन

4.  समदु्र : सड़क : शहर

   

Question Number : 67 Question Id : 25498919716 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third letter-cluster in the same way as the second letter-

cluster is related to the first letter-cluster. 

 

QDXM : SFYN :: UIOZ : ?

Options :

1.  WKPA

2.  QNLA

3.  LPWA



4.  PAQM

   

Question Number : 67 Question Id : 25498919716 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

उस विकल्प का चयन कीजिए जिसमें दिया गया अक्षर-समूह तीसरे अक्षर-समूह से उसी प्रकार संबंधित है जिस प्रकार दूसरा अक्षर-समूह 

पहले अक्षर समूह से संबंधित है।  

 

QDXM : SFYN :: UIOZ : ? 

Options :

1.  WKPA

2.  QNLA

3.  LPWA

4.  PAQM

   

Question Number : 68 Question Id : 25498928165 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, GO is coded as 32, and SHE is coded as 49. How will SOME be coded in 

that language?

Options :

1.  56

2.  58

3.  62

4.  64



   

Question Number : 68 Question Id : 25498928165 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

यदि निश्चित कूट भाषा में यदि GO को 32 के रूप में और SHE को 49 के रूप में कूटबद्ध किया जाता है, तो उसी कूटभाषा में SOME 

को किस रूप में कूटबद्ध किया जाएगा?

Options :

1.  56

2.  58

3.  62

4.  64

   

Question Number : 69 Question Id : 25498928305 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option in which the words share the same relationship as that shared by the given pair 

of words. 

 

Rotate : Gyrate

Options :

1.  Putrefy : Reject

2.  Anachronism : Cubism

3.  Accolade : Criticism

4.  Absolve : Exonerate

   

Question Number : 69 Question Id : 25498928305 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

नीचे दिए गए शब्द-युग्म के दोनों शब्दों के बीच एक निश्चित संबंध है। उस विकल्प का चयन करें जिसके शब्दों के बीच इस युग्म के शब्दों 

के समान संबंध है। 

  

घुमाना : चक्कर लगाना

Options :

1.  सड़ना : अस्वीकृत

2.  कालभ्रम : घनवाद

3.  सम्मान : आलोचना

4.  विमुक्त करना : छोड़ देना

   

   

GENERAL AWARENESS
Section Id : 2549897147

Section Number : 5

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and 

Clear Response :
Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549897188

Question Shuffling Allowed : Yes



Is Section Default? : null

   

Question Number : 70 Question Id : 2549895265 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bhilai Steel Plant is the collaborative project of the Government of India and ______.

Options :

1.  the Soviet Union

2.  Britain

3.  Germany

4.  Poland

   

Question Number : 70 Question Id : 2549895265 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

भिलाई इस्पात संयतं्र भारत सरकार और ______ की सहयोगी परियोजना है।

Options :

1.  सोवियत संघ

2.  ब्रिटेन

3.  जर्मनी

4.  पोलैंड

   

Question Number : 71 Question Id : 2549899734 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following statements with reference to the human body is/are correct? 

 

1. The common bile duct releases its contents into the stomach. 

2. The pancreatic duct releases its contents into the duodenum.

Options :

1.  Only 1

2.  Only 2

3.  Both 1 and 2

4.  Neither 1 nor 2

   

Question Number : 71 Question Id : 2549899734 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

मानव शरीर के संदर्भ में निम्नलिखित में से कौन सा/से कथन सही है/हैं? 

 

1. सामान्य पित्त वाहिनी अमाशय में पदार्थों (कंटेंट) को मुक्त करती है। 

2. अग्नाशयी वाहिनी डुओडेनम में अपने पदार्थों (कंटेंट) को मुक्त करती है।

Options :

1.  केवल 1

2.  केवल 2

3.  1 और 2 दोनों

4.  न तो 1 और न ही 2

   

Question Number : 72 Question Id : 25498912780 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : 0 Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

With which of the following sports is the Choudhury Trophy associated?

Options :

1.  Golf

2.  Circumnavigation of the earth by car

3.  Formula One racing

4.  Cycling

   

Question Number : 72 Question Id : 25498912780 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘चौधरी ट्रफ़ी’ किस खेल से संबंधित है?

Options :

1.  गोल्फ़

2.  कार द्वारा दुनिया का चक्कर लगाना

3.  फॉर्मूला वन रेसिंग

4.  साइकिलिंग

   

Question Number : 73 Question Id : 25498929922 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is correctly matched? 

 

     Types       Origin   

1) Granites – Igneous Rock 



2) Marbles – Metamorphic Rock 

3) Quartzite – Metamorphic Rock 

4) Limestone – Sedimentary Rock

Options :

1.  1, 2, 3 and 4

2.  1, 3 and 4

3.  2 and 4

4.  1, 2 and 3

   

Question Number : 73 Question Id : 25498929922 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्नलिखित में से कौन से यगु्म सुमेलित हैं? 

 

प्रकार     मूल 

1) ग्रेनाइट – इग्नेओस रॉक 

2) मार्बल – मेटामॉरफिक रॉक 

3) क्वार्टज़ाइट – मेटामॉरफिक रॉक 

4) लाइमस्टोन – सेडीमेंटरी रॉक

Options :

1.  1, 2, 3 और 4

2.  1, 3 और 4

3.  2 और 4

4.  1, 2 और 3

   

Question Number : 74 Question Id : 25498932576 Question Type : MCQ Option Shuffling : Yes 



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT one of the fundamental rights mentioned in the Constitution of 

India? 

Options :

1.  Right to freedom of religion

2.  Right to freedom of thought and expression

3.  Right to equality

4.  Right to equal pay for equal work for both men and women

   

Question Number : 74 Question Id : 25498932576 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

निम्न में से कौन सा भारतीय संविधान में वर्णित एक मौलिक अधिकार नहीं है?

Options :

1.  धार्मिक स्वतंत्रता का अधिकार

2.  विचार और अभिव्यक्ति की स्वतंत्रता का अधिकार

3.  समानता का अधिकार

4.  पुरूष और महिला दोनों को समान कार्य के लिए समान वेतन का अधिकार

   

Question Number : 75 Question Id : 25498935829 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :

1.  A-1, B-2, C-3, D-4

2.  A-1, B-2, C-4, D-3

3.  A-2, B-1, C-4, D-3

4.  A-2, B-1, C-3, D-4

   

Question Number : 75 Question Id : 25498935829 Question Type : MCQ Option Shuffling : Yes 

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time 

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.  A-1, B-2, C-3, D-4

2.  A-1, B-2, C-4, D-3
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Summer camps are supervised camps conducted to entertain as well as equip students with 

various life skills such as teamwork, socializing, decision making, independent and 

responsible living and more. It aids the overall development of a child and children have fun 

during this process as they get to explore new arenas.
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The world is beset with falsified ideologies and with people who want to exploit each other 

in the fields of business and politics as well as education. Therefore it is of paramount 

importance that in addition to the rule of law some guiding principles as to how we must 

conduct ourselves in society and our institutions must be set. Throughout history mankind 

has genuinely wondered about the topic of ethics and tried to derive universal moral 

principles governing behaviour. Our modern understanding of ethics can help us create a 

better world by becoming better and more caring citizens. Ethics are basic standards or 

ideals that regulate the actions of a person or a community. This is not a responsibility to 

bear but a wise and successful guide to existence and progress. Ethics is essential in 



business as well as in academic institutions and social structures because it is a crucial 

cornerstone on which an enlightened system is built. It is often not the same to be following 

legal rules and being ethical. Laws like emotions will deviate from what is moral. Our own 

pre Civil War slavery laws and the old apartheid laws of present day are grotesquely obvious 

examples of laws that deviate from what is ethical. Being ethical is not similar to following 

whatever the predominant culture allows. In every community most citizens follow values 

that are ethical. But behavioural standards in society can deviate from moral standards. 

Culture may become immoral and unethical. Nazi Germany is a perfect example of a culture 

that is politically compromised. Academic dishonesty is yet another component of unethical 

conduct. It is a behaviour or an attempt that involves the creation of an unfair academic 

benefit for oneself or a disadvantage for any other representative of the educational 

institutions. The family has a powerful impact on the beliefs and actions of an individual. 

Parents create guidelines from the beginning and they are the foundation of our ethics and 

morals. Devotion to individual values is part of what makes a student effective. Lack of 

ethical dedication will always lead to academic incompetence. Social principles and social 

standards have declined over time. Citizens have lost faith and been greedy in their 

purposes and thus in lives of people principles and morals have diminished and lost 

meaning. An individual with ethical values is interested in the right actions and he also 

knows it internally. The individual doing evil acts at the same time may sometimes consider 

it correct to adjust to the social structure in which he or she lives but has terrible morals. If 

the morals of a person and ethical values have plummeted they will never feel any guilt or 

anxiety in executing misdeeds or even a severe offense will be suitable to their morals and 

ethics. Much of the time it is the context and the way an individual is raised that determines 

his acts and thus his morals and ethics. To see a world with a relatively low rate of violent 

crime and peace we need to look at the values and ethics that our sculptures and religious 

leaders teach. We will shoulder the pressure of making our world and in turn transform our 

planet into a beautiful place where all human beings will lead a life with integrity and 

dignity.
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एक बार की बात है, अकबर और बीरबल शिकार पर जा रहे थे। अभी कुछ समय की उन्हें एक हिरण दिखा। जल्दबाजी में तीर निकालते 

हुए अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर बहुत दर्द में था और गुस्से में भी।
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भारत की राजधानी देहली का अतीत ऐतिहासिक और सुंदर है। जब मैं तीन साल का था तब से मैं देहली में रहता हूं और इस शहर को 

बहुत प्रेम करता हूं। यहां जीवन बहुत तेज है और यहां के लोग जोश से भरे हुए हैं और जो भोजन आप यहां करते हैं वह बहुत लजीज है। 

देहली का इतिहास बारहवीं सदी का है। यह केवल भारत में ही नहीं दुनिया भर में सबसे पुराने बसे शहरों के रूप में जाना जाता है। देहली 

में इब्राहिम लोदी व जहीरूदीन मौहमद बाबर तथा शेर शाह सूरी व राजा चौहान तथा कुतुब उद दीन ऐबक व जलाल उद दीन तथा 

फिरोज खिलजी व शाहआलम बहादुर तथा शाह प्रथम और अकबर शाह समेत अनेक ताकतवर राजाओं ने शासन किया है। यह माना 

जाता है कि पांडव भी देश के इस भाग में रहते थे। कहा जाता है कि उस समय के दौरान पुराने किले का निर्माण किया गया था। देहली 



अपने सुंदर मेमोरियल के लिए जाना जाता है। सदियों से यहां कई शानदार मेमोरियल बनाये गये हैं। कई नए भवनों का निर्माण बाद में 

किया गया है और वे बहुत शानदार भी हैं। दुनियाभर के पर्यटकों ने इन मेमोरियल को देखने के लिए देहली की यात्रा की है। लाल किला 

देहली में सबसे पुराने मेमोरियल में से एक है। लाल बलुआ शिला से बने किले में कई संग्रहालय शामिल हैं। सोलहवीं सदी में मुगलों ने 

निर्माण संरचना का यह शानदार नमूना पेश किया था। मुगल सम्राट लगभग दो सौ वर्ष तक यहां रहे थे। ऐसा कहा जाता है कि हुमायूं का 

मकबरा अनोखे ताजमहल की प्रतिकृति है। यह लाल बलुआ शिला और सफेद संगमरमर से बना है। जैसा कि नाम से पता चलता है 

कमल मदंिर कमल के आकार में बनाया गया है। इसमें सफेद संगमरमर से बनी पंखुडियां हैं। इसमें नौ दरवाजे हैं जो प्रमुख भवन में 

खुलते हैं। इसकी क्षमता एक बार में दो हजार लोगों को समायोजित करने की है। यह शानदार भवन काफी बडा है। कमल मंदिर पूजा का 

घर है लकेिन यह हर धर्म से संबंधित लोगों के लिए खुला है। एक और प्रतिभा का नमूना कुतुब मीनार है जो लाल रेत से बना है। इसे 

कुतुब उद दीन ऐबक ने बनवाया था। यह कई मीटर लंबी एक इमारत है। इसमें टेढी मेढी सीढियों से जुडी पांच मंजिलें शामिल हैं। इंडिया 

गेट शहर का एक ऐतिहासिक मेमोरियल है जो दुनिया भर के कई पर्यटकों को आकर्षित करता है। शहीदों के नाम इस मेमोरियल पर 

प्रलेखित हैं जो भारतीय सैनिकों के कीर्तिमान को अर्पित है। अक्षरधाम मंदिर एक पवित्र जगह है। यह देहली में मेमोरियल की सूची में 

नवीनतम है। यह हाल ही में जनता के लिए खोला गया था। सुंदर तरीके से तराशा मंदिर और अनुपम इमारतों के अलावा अक्षरधाम 

परिसर में हरे भरे बागान और जल निकाय शामिल हैं। मैं इन सभी जगहों पर गया हूं और बार बार फिर से देखना चाहता हूं। मेरे पास इन 

जगहों की सुंदर यादें हैं। ऐतिहासिक मेमोरियल के अलावा देहली में कई जगहों के आसपास भी खरीदारी करने के लिए बाजार भी 

शामिल हैं। मुझे अलग अलग बाजारों में जाना बढिया लगता है जो मुझे बढिया चीजें खरीदने का अवसर ही नहीं देते हैं साथ ही मुझे ठेले 

के चाट का आनंद लेने का मौका भी देते हैं। मैं देहली के अलावा कहीं और रहने का सोच भी नहीं सकता हूं।
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